
Les	immeubles	:	78/371

Un	observateur	à	gauche	ne	voit	qu'un	immeuble.

Un	observateur	à	droite	en	voit	3.
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La	zone	ci-dessus	contient	des	immeubles.	Dans	chaque	ligne	et	chaque	colonne
apparaissent	des	immeubles	de	1,2,3	et	4	étages.	Les	observateurs	autour	de	la	zone
regardent	perpendiculairement	au	côté	où	ils	se	trouvent.	Le	nombre	d'immeubles	qu'ils
peuvent	voir	est	inscrit.	C'est	à	vous	de	retrouver	le	nombre	d'étages	de	chacun	des	16
immeubles	de	la	zone.
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Les	immeubles	:	correction	78/371

Un	observateur	à	gauche	ne	voit	qu'un	immeuble.

Un	observateur	à	droite	en	voit	3.
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Merci	d'avoir	essayé,	et	bravo	si	vous	avez	trouvé	la	solution	!
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